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JAL- JTAT L—TF &5t 232,745  116.6] 604,907 96.6 38.5 31.9
RER JAL 122,724 115.7] 280,755 98.6 437 37.3

JTA 83,370 111.8] 268,620 936 31.0 26.0

RAC 25,383 142.2] 52,700 101.3 48.2 34.3

JAC 1,268 125.9 2,832 107.3 44.8 38.1
o &

B B HREH(AN) | BIFL®) | REERGE) | AIEH® | FIAR® EEMAE®
FE=EH JAL/JTA 87,945 99.2| 194,645 87.6 45.2 39.9
=35 JAL 16,567 949| 45,756 736 36.2 28.1
BT = AN JAL/JTA 4,154 1022 15,180 68.7 27.4 18.4
1B = H JTA 13,107 1546 37,290 89.3 35.1 20.3
FE=F1E JAL/JTA 13,525 1449 26,636 128.7 50.8 43.4
FE=2H JAL/JTA 7,883 1242| 15,368 152.7 51.3 63.0
FH=AKE JAL 3,890 1329 9,900 107.1 39.3 31.7
EFE =518 JTA 3,355 976 10,065 107.0 33.3 36.5
EE=2w JTA 3,821 -| 10,065 - 38.0 -
HhER=F1E JTA 1,576 - 10,230 - 16.4 -
PE=E JTA 1,697 - 9,900 - 17.1 -
thih = AR JTA 6,326 942| 24,750 728 25.6 19.8
=30 58 JTA 2,394 2359 10,230 105.1 23.4 10.4
INA=TRE JTA 2,188 2547 10,230 110.7 21.4 9.3
PE=EEXE RAC 740 1120 1,700 60.7 435 23.6
BH=5h RAC 3,158 476.3 4,000 142.9 79.0 23.7
H % = ok B &D JAC 1,268 125.9 2,832 107.3 44.8 38.1
B ot #RET 173,594 1145 438,777 954 39.6 33.0
BE==w JTA/RAC 22,528 117.7] 65,205 101.4 345 29.8
MB="F1E JTA/RAC 16,333 1257 53,655 102.2 30.4 24.8
ME=AKE JTA/RAC 8,052 139.2| 21670 87.0 37.2 23.2
B =R AR RAC 1,869 1149 4,400 107.3 425 39.7
B =LA RAC 927 1548 1500 107.1 61.8 428
ME=5ME RAC 1,002 857 3,000 109.1 33.4 425
Hir =% RH RAC 2,074 208.2| 4,400 100.0 47.1 226
BAAR=IKXE RAC 788 113.4 1,600 107.1 525 496
RiE=5ME RAC 3,138 970 6,200 939 50.6 49.0
HEh=501E RAC 2,440 1430 4,600 105.7 53.0 39.2
BR#RET 59,151 123.4| 166,130 99.7 35.6 28.8
TR AR A B 232,745 116.6] 604,907 96.6 38.5 31.9
T A 0 - 0 - - -
LB AE 232,745 116.6] 604,907 96.6 38.5 31.9

HAMZE HEXE LK 098-858-4833

BARMURAA—v M2 LR 098-858-5912



BEMR=E BHERSZAF—vyRE HEBIFP—I=Za—%— @

<EYE{EEEEE>

v A B #E
B Bt EEGW | MEL®
R =3ARER JTA 42 50.1
&t = AR EH JTA 234 85.2
FH=FR1IE JAL/JTA 149 157.6
FH==% JAL/JTA 95 133.4
PFH=AXE JAL 8 265.4
BfE=HiE JTA 25 102.6
=21 JTA -
hE=H1E JTA 1 -
FE==1 JTA -
hE=3BF JTA 100 48.7
L =38 JTA 52 162.1
IND =P JTA 0.0
MBE=FXKE RAC 4 77.8
BE=5 RAC 1 102.1
B oMRET 711 86.4
MBE==n JTA/RAC 486 94.9
MEHZ=H1E JTA/RAC 423 104.8
MB=AKXKE JTA/RAC 110 96.6
AMEB=PAKE RAC 30 96.1
AMEFE =4t K= RAC 11 93.3
=5 E RAC 16 98.8
EG=%2EM RAC 25 124.3
BAERE=1IXE RAC 10 95.7
RiE=5#E RAC 33 104.4
BEa=fiE RAC 15 101.4
B RNRET 1,160 99.4
EHAR RS ET 1,871 94.0
T EHREEE 0 -
SRR ET 1,871 94.0
Ut
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